

$$f(x) = \begin{cases} a+|x| & \xrightarrow{\text{القيمة المطلقة}} \\ b\sqrt[3]{x^3} & \xrightarrow{\text{القيمة المطلقة}} \end{cases} \quad f'(x) = \begin{cases} \frac{1}{\sqrt{x}} & x < 1 \\ \frac{1}{3}bx^{\frac{1}{3}} & x > 1 \end{cases}$$

$$1 = \frac{v}{w} b \lambda \rightarrow b = \frac{w}{v} \quad a = \frac{l}{v}$$

$$a + b = \gamma$$

$$g(x) = \frac{1-x+\sqrt{1-x^2}}{\sqrt{1-x^2}} \quad f(x) = \frac{1-x}{\sqrt{1-x^2}} \quad (f-g)(x) = \frac{1-x}{\sqrt{1-x^2}} - \frac{1-x+\sqrt{1-x^2}}{\sqrt{1-x^2}}$$

$$= \frac{-\sqrt{1-x^2}}{\sqrt{1-x^2}} \xrightarrow{\text{cancel}} \frac{\frac{1-x}{\sqrt{1-x^2}} + \frac{1}{\sqrt{1-x^2}}}{\sqrt{1-x^2}} \xrightarrow{x=1} \frac{\frac{1}{\sqrt{1-1}} + \frac{1}{\sqrt{1-1}}}{\sqrt{1-1}} = \frac{\frac{1}{0} + \frac{1}{0}}{0} = \frac{-\infty + \infty}{0} = \frac{-\infty}{0} = -\infty$$

$$f'(x) = \begin{cases} b & x < a \\ -\frac{1}{x^2} & x > a \end{cases} \rightarrow f'(a) = f'(a)_+ \rightarrow b = -\frac{1}{a^2} \rightarrow a^2 b = -1$$

$$f'_-(a) = 0 \quad f'(x) = \begin{cases} 0 & x < a \\ n(x-a)^{n-1} & x \geq a \end{cases}$$

$$m(x-a)^{m-1} \neq 0 \begin{cases} m=1 \rightarrow f'_+(a) = m=1 \\ m=0 \rightarrow m \times \frac{1}{x-a} \xrightarrow{x \rightarrow a^+} m \times \frac{1}{a^+} = +\infty \rightarrow f'_+(a) = \infty \end{cases}$$

[illegible]

$$f(r) = -ra - d \quad f'(r) = -a \quad f'(r) - f(r) = -a - (-ra - d) = r \rightarrow$$

$$-a + ra + d = r \rightarrow ra = r - d \rightarrow a = \frac{r-d}{r}$$

$$f(w) = -w_x \frac{w}{v} - a = \frac{q}{v} - \frac{1}{v} = -\frac{1}{v} \quad \rightarrow \quad \frac{f(w)}{f'(w)} = \frac{-\frac{1}{v}}{\frac{w}{v}} = -\frac{1}{w}$$

$$f(g(x)) = g'(x) \times f'(g(x)) \rightarrow g'(\frac{w}{\sqrt{n}}) \times f'(v)$$

$$g'(x) = \frac{1}{x} \times \frac{1}{\sqrt{(x^4-1)^3}} \times 4x^3 \Rightarrow g'\left(\frac{\sqrt{5}}{2}\right) = \frac{1}{\frac{\sqrt{5}}{2}} \times \frac{1}{14} \times \frac{4^3}{2} = \frac{-1}{\sqrt{5}}$$

$$f(x) = (x+5)^2 + 1 = 1 + 2x + x^2 \rightarrow f(2) = 1(2) = 1 \rightarrow f(1) = 4$$

$$\log\left(\frac{y}{x}\right) = y \ln x - \frac{1}{\sqrt{x}} = -\frac{y}{x} \rightarrow -\frac{y}{x} = -\frac{1}{x^2} \rightarrow \frac{y}{x} = \frac{1}{x^2} \rightarrow y = \frac{1}{x}$$

$$g'(x) = f'(x+1) + r_x f'(x+1) \rightarrow g'(x) = f'(-1) + r_x f'(\varepsilon) \quad f'(-1) = f'(-1+\omega)$$

$$g'(-1) = \frac{w}{v} + w \times \frac{w}{v} = \frac{w}{v} + \frac{4}{v} = 4$$

[illegible]

$$f'(x) = 1 \times \frac{1}{\sqrt{x+1}} + \frac{1}{\sqrt{x+1}} \times \frac{1}{\sqrt{x+1}} (x-1) \rightarrow f'(0) = 1 + \frac{1}{\sqrt{1}} \times \frac{1}{\sqrt{1}} = 1 + 1 = \frac{2}{1}$$

$$4y = 16x + 1 \rightarrow y = \frac{1}{4}x + \frac{1}{4} \rightarrow m_{\text{perp}} = -4$$

$$y' = yx - 1 = -y \implies yx = y \implies x = 1$$